


EXPLODED VIEW: EV BLOCK HEATER 1.5L CPL KIT  

DRAWING #:0J6420  GROUP H 

 
ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0000015-D  Page 2 of 2 

DATE: 1/14/16 

 1 0G2006 1 BLOCK HEATER TEE 

 2 084918L 1 HEATER BLOCK 1500W 120V 

 3 0G0015 4 CLAMP HOSE 7/8” OD DOUBLE WIRE 

 4 047411 2 SCREW HHC M6-1.0 X 16 G8.8 

 5 022097 4 WASHER LOCK M6-1/4 

 6 049813 2 NUT HEX M6 X 1.0 G8 YEL CHR 

 7 022473 4 WASHER FLAT 1/4-M6 ZINC 

 8 084427A 1 BRACKET HEATER 

 9 0F4301A 1 HOSE REWORK BLOCK HEATER G1.5L 

 10 0G4080 REF HOSE LOWER RADIATOR 1.6L 

 11 099502 2 CLAMP HOSE #24 B1.06-2.00 

 12 042568 2 SCREW HHC M6-1.0 X 20 G8.8 

 13 0F4301A 1 HOSE REWORK BLOCK HEATER G1.5L 

  

 


